



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right) - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^2 - \frac{1}{4} = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{3}{40}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{2}{5} = \frac{49}{135}$$

$$\left(\frac{1}{3}\right) - \frac{3}{5} = \left(-\frac{4}{15}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{3}{4}\right)$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} = \left(-\frac{77}{750}\right)$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{35}{216}\right)$$

$$\left(\frac{3}{5}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{42}{125}$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{2}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{31}{64}$$

$$\left(-\frac{1}{5}\right) - \frac{1}{2} = \left(-\frac{7}{10}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} = \left(-\frac{71}{320}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{119}{750}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{437}{1080}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{123}{250}$$